ANFETF (BIE) OFREICONT GRE)

4MBE2A XRLEFRRTBESEH

53

7

B

T + 4| JERIK 1 SR T
T F= % g | RfAAE1ITHM#MRS
THMEE L=109m
™ F M = FiGERT —X, KEOLT —=RX, L —X, MHLT —KX
56 R W R | SFS3HE9H30H
T F i ¥ | 109, 759, 100H
2 K & ## 109, 670, 000H

2K oM F N

SHABIT9 9 0 6 HHD 6
MR st
RFEEGHEE TR &

R

o ik

—E A AL (FRFEETT)

2

o H A

Sf341 A 8H

O

DAL B~ §

1%




ILFK 1 SRRERIE

il B S=1:6000

Léﬂ'g' . \\f///
g :

| 5

ol
=




LK1 SHRERIE

\ 25 22
S % ‘%E E\E
) § % ILERTE D\Tﬂ J RIGER /
E % s %
g2 \\ o y%
Y & —F :
| b hill LRES
S
N RIT EARMET
» L=88m
A’ - Ho8
BEANRY TI5 Zr R2 ML H30 6T & H2O ETiEH [FETEM
== L=109m L=136m L=125m  L=49m
EHRIERE L=660m

¥ m|m S=1:3000

SR r&a&_iksm;




LK1 SHRERIE

EAEMBER  S=1:100

W=6.35~9.10m

__{fﬂ,___ji 2.40~5.81m

vaAvP)—Fk

|
J
(g

RS
) =
\W— 2 U — 7
== 7 N %__—1_/ _E__/
% E%@ﬂ&%
BaEE
kJoyly |
ﬂﬁ%%
J, ,?\m%w<aﬁﬁ>

—~ —~




